In these questions, the same letter must fit into both sets of brackets to complete the word in
front of the brackets and begin the word after the brackets. Find this letter and mark it in the

answer booklet.

Example:
sin [?] ing
Ab Bg
Answer: D

tan [?] een

Cp Dk Et

las [?] eist
At B h

B} wra[?] eer

Ab Bg

n fra [?] arn

Ag Bt

yiel [?] irt
Ad Bt

thie [?] ade
Ar Bs

sol [?] chre
A a B f

wort [?] eir

Cs Dp E w

clas [?] ine

Cp Dd Et

tin [?] elp

Cs Dy E m

stran [?] elve

Ch Db Eg

shea [?] able

Ch Dt Ef

hal [?] asis

Co D h Ed
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